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1.(a) i. Draw the apparatus used in the laboratory for keeping substances free from
moisture. (1 mark)

1. Name the apparatus used in the laboratory for supporting crucibles on tripod
stand while heating.

f ( 1 mark)
|
Pl c:Lj, 't‘“ﬂwg\ 1/

(b) State two roles chemistry play in the society. (1 mark}
Man%ud‘um QJ( m\f}: ) 'k sigd. dt?eﬂdéi{ _ Gieltrgenﬁ b

. -1 B - 131 b hunaee oo Kuele ’1 20
W Ezra'u’remajwe -F nL v ﬁ ) =
treated with dilute hydrochloric acid. The resulting
solution W was analyzed 1o find out the sugars present using chromatography. The
following chromatogram was obtained.

1. A sugar called raffinose wa

L -
1 = -
1 . S i ¥ |
Maltase  (fiatose Fudose Gatose v
4 e s -
(a) Idenkify the 511.*:"1118- pmsvnt in W, (1% marks)
lwere,  Fudose, Galachse 2
(b)  Which of the sugars is less sticky? Explain. (1% marks)
. laladse 'y Mowqﬁmﬁmskfrﬁm{ﬁﬁbﬁf@hﬂ@bﬂ '
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2. a. Describe how simple acid-base indicators can be obtained from flower petals. .
\ (2 marks)

Qrush” Abe... Howe.... pekals.. wsing.... Boafe. o MovdRT
Aﬁﬁlﬁvfﬂhﬁﬁgfﬂh«ﬂﬁﬂ,Whtbfmihmg
Daﬂﬁnﬂ‘niim{pabuﬂmjmg

b. What 1s the disadvantage of using phenolphthalein indicator over other

commercial indicators. i ( 1 mark)

-—Ar;.gsnlr Show. Aighincken. . hetween nwim ‘a’fu,d Aedic. solubions . &)
Wt

4. State and explain two observations made when a burnmg magnesium ribbon is

lowered into a gas jar full of carbon (IV) oxide. ( 3 marks)

-Fhe... Ybbos. .. (ondinwes. . buwa - V/'
a.,f{Q‘!!‘.f}.szf!ﬁI}......"?{....ﬂ.....‘:&ﬁ@ @M ﬁﬂd blﬂﬂk (?eﬂkiL/[ -

‘!’lnr; healr ol bmmn Mj 5‘10@ ‘Ev’tbu&ﬂl\ JT!:r Ol Mfﬂ\'e CD.;(

'\f(h) L@h&d‘-) ﬁ*.hJ' _B (Nt “nu& jm ‘puﬁ{w W f’{f-.'lI D\(-k:[g,?n’ll-{éw L\!ﬂoﬂt}t'

5. Draw a well labeled set-up of apparatus that can be used in the laboratory
preparation of oxygen gas in the laboratory using sodium peroxide and water.

( 3 marks)

f L;ih! ll{l LA

oo
?ﬂfﬂf: OLQ:
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6. Potassium consists of three isotopes with mass numbers Y, 40 and 41 having
relative abundances 93.1%, 0.01% and 6.89% respectively. Determine the value of Y
siven the atonfic number of potassium 1s 19 and its relative atomic mass is 39.1379

: oA 0 D = 2 marks
36 31q = (a3 1xY ) Hiox )+((;&cxiw | (2 marks)

- e —
RSSO | L= e (X 10 L1 SRS

‘7/:: 5‘] / i~ '
R e DRIERY ! B I SR 1 i

boo W ades

7. a. Define the term ionization energy. ( 1 mar
~the. Minimune... Gl Of.... ¢oergy... Xoquited . fo.. Temove G |
&\.Q.L!nmu...{mm...ﬂ.hﬂ.,,.WiQ¥m96"{...Em.fgr{...[Q,%.[..Of,.tln...@ i Guseas trate.

b. Using crosses (X ) to represent electrons, illustrate ion formation by an oxygen
atom. (=) = 2° G 2— (2 marks)

8. In an experiment to electrolyse a nitrate of element ¥ in solution state using inert
electrodes, 386 C of charge produced by passing a current of 0.2A increased the
mass of the cathode by 0.128g. If the relative atomic mass of X is 64, determine the
oxidation state in an ion of X. ( 1F= 965000 ) ( 2 marks)
ERbC —pig ... SkSeoc =l

B L -1 VA S

””-;'__—TqBI,GDﬁ‘Q:LJ"+””'*X"L; - ..’..
-.--____-'_-_ =
9, 3Zn0 ¢+ 2NHs @ > 3%n @+ N2+ 3 Ha0

o

In the equation above, identify with a reason the oxidizing agent and the reducing
agent. " ' ( 2 marks)

GAH*Z“O”MIBNH_Q"‘H”
."...ﬂ.xg,....0:5.,,@1\....Zn,..dﬁﬁfrgﬁm....{wm...‘!‘.?e.,’m..Q. / ..hl.[g...,‘..{c&mt..ﬁj
Nd’ft{g@n W\ LA en {}VM =20, l
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10. The grid below represents part of the Beriﬂdic'{'able. Study it and answer the
questions that follow:

[ p 1
A E ¥ L

A - G

B ...g . - —
a. Compare the reactivities of elements A and B with chlori ( 2 marks)
E) Yoo (ke *ﬂ’ f__nj Wit LNMME o A

~ k& has “borie ¢ Yodiu¢ fhan B honle W«@aﬁf" wiiclews od‘kmtﬁﬂ_n (Ol

............... B e \p‘.gq' qwgu:“,,,.mn{_ggiw....ﬁmn B l’*ImL‘.L'L:'-""I'”

-k is hghner W Yeadkinty JGne.a [ovoie e\eb‘m’[bs&i‘f%f fan B
b. State tw uses of elém nt]k (1 mark
-Nanufacure. o hydocklone aed v/ oy L

#Mmhu{uﬂv@ O .. h'\e;;ﬁd-.mj__aﬁm*rsl,Lk\om{mm Mhmi&hﬁuﬁﬁ [ M

— P’ﬁf o l. Si'ﬁ n ggma\'l ﬁ\MQU\H-‘-
¢. Using dots and crdsses tu I‘(‘plLS{‘nt electrons, show bonding in a compound
formed when C and I react. ( 1 mark)

11. Descr 1hfi how you can prepare Barium sulphatv salt starting with Barium
(3 mqul(s)

Rﬁ oxcess B0 . dile. m*nci aud.. . a&mn.” Fy R

F\’mw J(p aek . Yid ﬂ,[_ uneaded BaD, \o 4ho  filtedle. o.do! {Jh’fe{f 2.

(teft Sadiun, “"”'“ﬂiﬁ “Sdukon ... Filier va ﬁiﬂ*ﬁ«\n...gﬂmm Q"“P‘“@fe
{;{{Iﬂ‘; l} 45 TH{AME? Nﬂb’tﬂ ﬂ’\ﬂ Mdme wnd duj i’)@‘]\ueeﬁ
:{Jguqh ’?lLH."T ?Q?Q{S L'/ IE == Pl‘- Uas [* b o ll"'“{ FX g A {;;:1' .J' Mt res -
5
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12. Name the process by which:
a. Crystals of calcium chloride changes into solution when exposed in air
overnight. . » ( 1 mark)

...................... D@‘xwrueéce;ﬂ(e/l

b. The volume of concentrated sulphuric (V1) acid increases when left in an open
beaker overnight. . /‘ , ( 1 mark)
T TR B T T,

13. Study the diagram below for the electrolysis of molten Lead (II) bromide.

e .“. ———{ A J——y
| |

a. Label the electrodes .
b. Write an equation for the reaction taking place at the anode. ( 1 mark)

ig“ﬂ}—?ﬁam*&‘?-b/}

¢. Draw a well labeled diagram for a set-up that can be used to purify impure
copper. ( 3 marks)

IMFL”\E’,I -'I
{,QFPEF’; .
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14. i. What do you understand by the term greenhouse effect? ( 1 mark)

-"’E{err*o’f'nﬁﬂ&e al'mﬂs?mub e,rm‘mrm /éw
F
.{mgpa@....ﬁ%....é.o'!;;x.....mdtgha.w.,‘...... {'N 58 )

ii. State two ways in which carbon (IV) (Jde.L 151 released into the environment
( 1 mark)

]Eammlj Y. fossl J[uuel Josgaumic. MAROE Y. 2 e

P'w“hﬂm [ ,l- e
lf\‘ﬁﬂfﬁ\ﬁmj k C&vbumiﬂ. TULKS- v

15. Study the diagram below and use 1t to answer the questions that follow.

AT

iﬂlm;.:hms fu-L:ﬂ-H I LLI‘DHJ.E

4. State what is observed on the anhydrous cobalt (I} chloride. ( 1 mark)

o
-"’“emamsiﬂ\u@/

¢. State one industrial use of carbon (II) oxide. (1 mark}

sexhathos.....6 6f... s reachve. mefals Jroon.. ot U’t@dﬁz}/

16. 1. State Graham's Law of diffusion. ( 1 mark)

Um Yo Some. . Ganddibns. | \'?.Mf@mhr‘f ﬁM Pressure, . “*%/

Yalo..84....... Cifpasse...9f.. 0. 000 . is....invarsely....
‘h) e QGRU.ME Yoot Wf L{"E\ C{*Emhlg

7
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o diffuse through a porous plug.
phur (IV) oxide to diffuse through the
( 3 marks)

ii. 200 em3 of oxygen gas took 90 seconds t
Determine the time taken by 300 cem? of Sul

same plug under the same conditions. ({IL— 16,83=32) <
e 2

ﬂﬂifv"__lff.} :_;. 122 m'}l% 3 e 22-2-(#}3} LE Ry
..ﬂ?....“.....;. :..“.. G A 1......-“..i§._--:."...'.”..... ........._:....... .u.} LR
s [ l
230 2 x W0 13 h.qaxd - G tz 200/ /= 190934 3
...;.‘t.............,....H,. “-;-:_‘i’;__i_-_nll."gi' AL, .......t.ﬂ.}'l} ", \ ——TTTETTT
ORI 00 SR e 3 - 1.1+ =i Bt

Rsea {32 % 6 H-
17. Copper (1I) nitrate was heated carefully an

water. A colourless gas is collected over water.
i. Write an equation to show its decomposition.

1(% (No 0,), .. —"MC“‘ ... tiNG +O=-3La)1’r

ermine the volume of the gas collected at

d the gases produced passed over

( 1 mark)

ii. If 9.4¢ of the solid was heated, det

RT.P. (3 marks)
( Cu= 64, N-14, 0= 16 , molar gas volume at R.T.P = 24 dm?®) ;;
[ ¥
N\ﬂﬂa.@&...ﬂu{“ U, :iﬁ:@fﬁﬁw\% W\W}U "gj”’éﬁ -0 W”?**l%

-un' (5
(18%) i
o Ve 8.0, 7. 9.92 3‘*
—EV Mbiq m)fm Cuudog,‘j ff‘ (A e S
=21 .. ..':'r.'?:'.@.o.lm.ﬂ./
oyt e ; s o
i = Goo(m i

;O

18, a. Draw the structural formula of the following:
1. Ethyne

“

( 1 mark)

/'1|

o — S

ii. Ethane H v ( 1 mark)

i |

v ﬂC = ‘:’"H V

H
b. Describe an experiment 10 distinguish between the compounds in (a) above.
T ( 2 marks)

?M*m Hhem., SEPQW’WJ{,E(
‘E'ngme }Jufnd .. %ui Aud’uj [[am&;..ﬂhﬂnﬁ...%&ﬁﬁyﬂHﬂﬂ“ﬂ
rﬁﬂ{_.bf-f, LY L |
’ HMING wanE'r 6o
ll LUL.TU? ﬂuuti J\ﬂd
#ahd‘%‘w‘ KMaOs jﬂnqmm b weodione - for Ay
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19. Study the diagram below for the preparation and collection of nitrogen (I1V)
oxide in the Lxhﬂr'ttnry and use it to answer the questions that follow.

L i

Rt r‘\‘}

o
i' 1
£ l\‘l_ ks

i. Name substances W and Z. ( 2 marks)

w (ntenhated s huﬂﬂ‘ﬁ/&t«tﬂlﬂ?c@ erlﬂku’(J
t C ff Ty

ii. (Give a reason why the gas is collected as shown. ( 1 mark)
f

l’fnidww*&ﬂna;rt,/

20). State and explain the observations made when moist blue litmus paper is
dropped into a jar containming chlorine gas. | (2 marks}

Web\ﬂﬂhlnwfafer'mms ek ten B 3. bloatud!

< .. Ak, ... Ao ouidis, mh,e
,‘,\’_'rv!....P.C.(Pit,....ié......b.!?ﬁ.f-hf{?{......t.j.j.....{xh.lﬁ?ﬂ.!l...}r..,..%'?{.....’f?am?.‘.’;:.:[y,_t.,....

21. a. Given the reaction;

NHi g ¥OH o~ NHzp+ H=0 g

Identify the acid in the backward reaction and give a reason for your answer.

.H_ O ‘/I/ (2 marks)
...... by sk Tty Ay
L\'olﬁwwl‘% ?m’mn _’to NH .JE?....i*?m.....!ﬁ‘.ﬂ&fmifi..!’.

b. ‘:t te two, adv anta g of hard water,

s
Prosdes... alCvm... ostenfral.. -E»},)bﬂheﬁ

e m‘""" R ””Ed .. \"’EW"‘j V. Ly 3
3. Doegnk daco\lve  |ead {}pm Icad pq{&g. :
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2.1. Define the term solubility.

22. 1.

mwmmﬁﬂﬂ&

\%D{,ro\veﬂjf&kﬂgwﬂﬁwrmfﬁ’{

i)

f

\ile... Yequyed

oAt

aueedo

ru*

ii. Use the information below to calculate the solubility of sodium nitrate.

Mass of evaporating dish —

Mass of evaporating dish a

Mass of evaporating dish a
Mﬁu% Salt = 20 h:t -4

Mags 9y Ju.hw. - Houlo -4
N-(Ur‘l d& Eo\\'ftki

15.10¢g
nd salt = 20.10g
nd solution = = 40. lilg

1% .f:{j N b J
,5 _
b“&?r
"’-‘5:3 "ff’gf 1?5

23. 100 cm? of 2M copper (II) sulphate at 20 °C is reacted with 3 grams of
magnesium ribbon. The temperature of the resulting solution was found to be 26 °C.
( density of solution is 1 g/lem3, ¢= 4.2kJ/Kg/K, Mg=24 )

i. Determine the molar enthalpy change for the reaction.

\_ij- MeAT
Fur,wz:{ﬁ,

.. o 2“6
Mn[ag&hgﬁ & o Iz.s.n..mleo

Mels ’}Cuf-qf X o hm = b 2M.;f@)

1. Draw an enbrr;}* lvvol di

¥
3

|'
Y,

ad

2
V3
J

-—
i

]Gmw[

A }<2.-§'?_\/]

"012-3:

agram f'or representing the reaction

N

My s a..s%' '

-0l
Mojo’hml a3 Cux_f
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'.;.,:a‘iaé.:.{.é..;j%:t.

( 2 marks)

( 3 marks)

= LLEPJ..........“

. IR
|:._-[lft"I .
\/ Jl"’}
!

i i
b

(2 marka}

I.fl{ﬁl
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24. Curves A below was obtained when marble chips were reacted with dilute
hydrochloric acid and carbon (IV) oxide produced.

A

1A :

'l b el EL| | J\
= N ,
:‘-"5'-""”“51" W PREE /'

T—'i sl E?ﬁ.
—
=€ -:.a'mis

a. On the same graph, sketch a curve that would be obtained if powdered calcium
carbonate was used and labeled as B (1 mark)
b. Explain the difference in the two curves. 2 marks)

(
?ﬁwziwd @0y . o \Wgca.&uffaw weﬂTWTC’J@%
fo... A Jhe.. &gwr e vale o eachde L

25. Give two uses of zinc metal. -~ | ( 2 marks)
Jedo _aalvanize. Wem. M
2 Moke Iofosii o li.\.-'ly d @ Ipde

3 N sudE sy w gy el

26. a. Identify the substances roprespntt,d below;

£ ( 1 mark)

22 I'

(- C g Nat Soup / Soafy d%/grgéﬁh

ii. (1 mark)

o
i =

r.'}_@‘ 5,_..{:}' I'\Jc‘h i ; :
B o QD&PlQ‘JS Cfdﬁgq d: ;
L4
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b. Name the polymer shown below. ( 1 mark)

c. If the polymer in (b) above has a molar mass of 8600, how many monomers are
present in 1t? { 2 marks)
o el et - tfe bl i H.--n----------+.|--n----------Tr_.i-:-;_ia--r--------------------I-'H-*---------nw H
Nh"ﬁ Mo > MM { e - BbODV %Jf-n-plg.;;/'.
R, | R e i A Ak — T T Y 8 i T e e R e W FRCTRR, N
NI Mooy, (72040 36, iip
IR N B N +|-II------1-r--1+-|ld-l-Ia-I-----l+|ld-lI---I-----r.-.dll---I----rrl-d-l-lll---I-I---r--r-.-'-._

d. Draw a repeating unit of the polymer. ( 1 mark)

27. 1. The activity of a radioactive isotope decreased from 1024 counts per second to
128 counts per second in 75 days. Determine t.hi’: half-life of the isotope. (2 marks)

Lo Sl = 200 = (0% &'”:img,%ﬁm “:’ﬁ/g
1.
B B2 BB st et
C 5 ke

FTTETE TR
I

iii.Stgi two dangers associated _t.viLh,_ra,eﬁuﬁﬁf,ivit.}r. ( 2 marks)
-1 | pdf

~(Bare, gewe pautahan Cam_ W&Lh%fm’t)vf :
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